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Smdents of a class collected money for a polio campaign. Each boy donated Rs. 50 and
each girl donatedd Rs, 60, I the class strength is 50 and the total amount collected s
Rs. 2 800, Find the number of girls in the class.

wd Agrias EITE% Qﬁggﬁaw Fdar E“'ég@"ﬁ?ﬂla o L‘.izb.:r*n‘i:- SEboT. E.-E‘:-ﬁb :lﬁ“ag
. 50 dodd Sodcin dopha &r. B0 Sodad SEtord. ét‘fﬁat’.’i" Bwgo ST Dorghiee
Fogg 50 s, E0oDE Swdo &r. 2,800/ wondld Jed Dol ﬂﬁggim OIS S a?

(A) 10 (B) 20
(Cy 30 (D 40
(E) 25

Find the factors of the quadratic expression 2 =5x + 6.

Xt =5x + 6 Gy, Flarorus JI7

(A (x-1(x—5) (B} {(x+2)(x=-3)
(C) E=2)(x+3) M -2 (x-3)
(E} None of these (0h =)

The ronts of the guadratic equation x* + 3x—-40=10.
xt+ 3x — 40 = 0 Sy, Soweroa?

(A) 5.8 (B) 8,5
) —5,-8 (D) 58
(B} Nenc of these (W8 )

The sum of a natural number and its reciprocal is 122/11. The number is :
af Bire Sopg, T GiBy e Sude 122/11 wowd & Hopg D87

(A) 9 B) 12
iy 1 (D 13
(E) 15

Il one rool of the quadratic equation & + 1lx + £ =015 4, find the value of &
24 1l + k=035 Sdoddnde Gug, o8 Sree 4 ocxd, kol Jos?

(A) —4 (Br —15
{C) 8 (Dy 15
(E) -60

The sum of the squares of three consecutive integers 13 110, Find out the middle term.
Sordy $% roere Soe Tode 110 wowd SES Safghr

(A) 3 (B} 4
) 6 m 7
(E) 3

BRP-IS{1)-8002 (C) -1- C3
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Find the threc terms of an arthmatic series such that their sum is 30 snd prodoct is 910,
23 wolddy Surd Sore Sudo 30 Rddke T8 oo 10 wond @ Sopgos 227

(A) 810,12 (B) 7.10,13
(C) 610,14 @) 513,14
(E) 4.12,14

Botween 100 and 200, how many integers are divisible by 117
100 Solction 200 Sady < Spd 50:9_5&-:63 T grhodh,

(A) 10 B) 9

(Ch & Dy 7

(B} None of these (05 )

Find the 10™ term of the anthmatic progresson 1,3, 5,7, .

b BT s &ﬁag@ﬁ:ﬁ* 105 350 Jod?

(A} 15 B) 17
iy 2 @) 13
(E) 19

Find out the sum of first 15 natural nuimbes.
S 15 Sirs Dogge Twde Jed?

(AY  E20 {B) 130

(©) 10 o) 100

(B} 90

Which term of the series 2, 6, 18, 5. i3 equsl to 14587
2, 8,15, 54, e @3315', 1458 ';'5.15 addogdoh?

(A} 35" (B) &

(Ccy 7™ (D) 14%

(F)  MNone of these (W8 s

Four men can do a work in twelve days. If there are six men doing the same work, in how
many days the work will be completed ? _
dibdy Spteo af 309 € 8SSwed @rg Sciudd. S0H g vl DD FRET A
Brdwed® 3pd Selndad?

Ay 7 (B &
() 6 o 9
() 10

A can do a piece of work in 10 days and B can do the same waork in 15 days. In how muny
days will they complete the work 1ogether?

A i 533 10 Bddoed®, Bed 320 6 888ued® rl Sdndy. Figt £8h s 502 2
BiSned” e Sdndaa?

(A} 6 E
iy o4 oy 7
(E)} %

[
5]
Lo



14,

15:

16.

17.

15

19,

Acan do a piece of work in 12 days and B can do the same work in 18 days, IF A works for
thres days, then in how many days will the remaining work be completed by B,

A 323 12 Sadned” &g Bdbyr, B o 530 18 Gldned® FL Soked. T A 3
Bfdwos 30 Sy uieddd B oY) 6dned” re Sonk.

(&) 1312 B) 9
C 16k o 12
(E) 10

A student can solve 75 questions in une hour. Another siudent can solve 100 questions in
two hours. In how many minutes do they together solve 250 questions?

wf Jorgh 75 PHod wf febd 0% tusiut. 2oFE 25l 100 EhHoe Jok dodeod
Soidotifods. =gd 93 250 BHod I Jinitoed 565 botias?

(A3 90 By 75
(C) 100 I 150
(E) 120

Aand B can do work it 72 days, B and C in 120 days, A and € in 90 duys, In how rany
days can A, B, C wogether dp the work 7

A Sobcte B 0% o8 320 72 Feed’, B Lodn C£283 120 Fwod, A behs C 40
Fred g Dabylon. 4 eidved’ =B 522 A, B, C395 Irf Schrrod?

A) B0 (B} 100

(C) 90 (D 120

(B} None of thess (D8 7o)

The speed of bus is 72 kmph. What is its speed in meters per second 7
28 oy o, 3o detde T2 B.ib. woniddds od div HEss Dabde® Joa?

(&) 15 (B) 1%
(20 o 22
(B} 25

ITa person’s speed is 45 kmph, then what is the distance travelled by him in 24 scconds ?
o8 568 oy Tile Aot 45 800, wundd, ol $18 24 DESed Jod Srdo Sddio?

(AY 240 m (B 360 m
C) 250m (¥ 300m
(B} 420m

The speed of a train is 12 m/see and it takes 15 seconds to cross a telegraph pole. What is
the length of the train 7

w8 Poo Swf), Jfo Bt 2 DD ecndT o8 15 BEbed’ BOTE Sowrd) Thlio.
wordd Do S Qo

fAY 180m {B) 1500 m
() 150m I 200m
(E): 250 m

BRP-IS(2)-8002 (C) ' 4 C3



20. The speed of the train is 72 kmph and i length s 200 m. How much time it will take 0

21.

22,

cross 4 plotform of 1000 m ?

Bwo Jdidw febids 72 Bl wondT on 345 200 Giypda, 1000 oky TEH F
Eﬁ'ﬂ*ﬁ&?ﬂ: mriwidis Diy R Jod?

(A) B0 sec (B) &0 sec

() 40 sec iy 30 sec

(B} None of thess (28 =)

A train which is 350 m long wavels 90 kmnph. In what lime does it cToss & man running at
36 kmph in the opposite direction 7

Do FHY 350 2o ob, dobid 90 .o Soe® pairdiymEdvd, Spgnd eS8 S
Fodads 36 8.3 I8 Stmddbiind, Jod ahchod” Do wdli moiud?

(A) 20sec (B} 15sec
2y 10 sec (D) 12sec
(B} Baec
Y { -
4
b

In the above figure /, and /, are parallel lines find the value of x.
T Shed® ], SeBats [HErodd Spwn wondd, X Jead Jod?
(A) 135° By 225°

(C) 45° (D) 307

(Ey  MNone of these (95 &)

by
by
A
" Al I o

In the above AABC find the ZACE.

1 3b08° LACB dos?

(A) 30° (B) 407
300 Dy 45°
(E) None of these (28 )

BRP-IS(2)-8002 (C) == C3



fo wip @,
"
Inthe above wriangle find the 2 ACH.
o @ghees SACE Joso
(A) 50° (B) &0°
(L5 I (L 43°
(E} Mone of these (08 522

5 o
[]hh _IJJ cm B C
o - ,«*i‘

Seom

o
Exh ST
f "--n.\,___H |
L = PR
A - B
12 em
In the sbove rectangle ABCD find ow ‘B0

7 AddhdFTies” ‘BO Jus?

f:"s_‘.' mﬁ ¢IH (B) T7oeom
(Cy 63cm (M 33 em
(K} Mone of these (D8 55
26, b — e
|l|I . l.l'll
Ao

In the above pum]lelnEf_-__:ram find cur ~BCL.

W REredd Siigued’ ABCD Jog?

{A) 40 I T i
iy 2200 (D 1a0°
(E) Nome of these (28 )

27 Tind the arca of an isosceles triangle whose base is 10 em and cach of the equal sides iy
cm,
wE Sd08nriugthsed”, e 10 Ton ke fhoudnes B Lo WY, R dTuge
Jad?
(A) 11em’ Bl 2Jl11em’
() 3y1tem (D SV1em

(B} 41lem’

BRP-1S(2)-8002 (C) & 3



28.

30.

3l

Whar i the area of a circle whose radius is 14 cm ?

w8 Sdo @ng m5#gﬁﬂ 1 on wond oD FTwHo JoET
(4} 6l16cm? (B} Tl6cm?

(C) Bloem? I 216cm?

(E} None of these (28 s2¢)

The area of a triangle whose sides are 10 m, 12 m, 18mis:

o8 |Bebaod’ o herey 108, 1220, 1Bl wendS o0 FFOE Jod?
(A) 453m (B} 40+3mP

(€} 50430¥ @) goam?

(E) 80+3mp

What is the distance covered by a wheel of radius 28 cm in 10 revolutions 7
2 digo Fprgan 28 Ton wossdd 10 Ehmond Jod drde polirdodied.
(A) 1150 cm (B) 1210¢m

{C) 1500 cm (D 1760 cm

(E) None of these (2§ =) t

The arca of an equilateral wiangle is 16 .3 cm?. Find out the side of the triangle incms?
Fimrdu Bowo geoge 16 JAom® mondd, o @ug, dhuo Donkied’ Jod?

(A) 4 (B 3

< 6 (D) &

(B} None of these (28 =)

A straight wall of 18 feet length and 10 feet height to be painted both sides. What is the
cost of painting at Rs. 4 per square [eet !

B S0 edaiab .| Sﬁb}é of g 15 edibe S48 Seldn 10 daram J)éj Tl and
Ta Bodogge” T Tofnds Bk pdy aod?

(A) Rs. 1400 (B) Es. 1,300
() Rs. 1260 (D) Ra 1,500
{E) Rs, 1,440

The radius of a cylinder is 7 cm and its height is 30 cm. Whaz is the volume of the cylinder
in cubic centimeters ?

f argargdn T Dok Sebad 8 30 Tonlo sowiipd d i $95rwdo foigithod®
wpdE?

(A} 4620 (Bl 3920

(Cy 4680 (D) 4900

(B} None of these (26 i)

™
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34,

3.

Two sides of rapeziuvm arc 10 m and 4 m. The height of the trapezium is 6 m. Find out the
arca of trapezinm.

Wi 55:@93:155;&:3&; Woogy Do heres 10 2o, 4 Zon, 4 6 on wondS &R Fruego
o ?

(A} 40 m (B} 42n¢
(o 36 m? (DY S0m?
(B} 24m

A Solid metallic cuboid of dimensions 9 cm x 6 cm x 2 cm. What is the total surface ares
of the cuboid 7 {in cm?Y)

o8 & Gglodhn Guf) Fodw 2 Dol x 6 Dol x 4 Dol woud op Sodpg
=bde Proge Jog?

(A) 264 By 144

{C) 288 o 196G

(E) MNone of these (D8 =)

Find out the ratio between the areas of cquilatera] trian gle and a square of having & perim-
eter of 54 cm,
22 thdy Fod 84 To.aom ESAS Sinri Scbeto Sbaks Hdidpine Sreve TinE

WO

(A) 5:3:2 (B) 19643447
€ 2:37 D) 743:3
{E} Nome of these (8 )

In how many ways can the Ietters of the word “LENGTH" can be arranged?
“LENGTH" «* BETY) Ui dE e wiag Sy,

Ay 24 (B T2
iy 120 (D 346
(Ey 42

Twao dice are thrown simullancously. The probability of getting the sum on two dice as 11
is.

Sod srdBuad In8dGyd T8 bk Fndo 1 eSFRE Sewisd Joa?

LA) Py (B} 16

2 4
YL i —
{C) S (o) 26

(E} None of these (né =)

BRP-IS(2)-8002 (C) -7 C3



411,

EES
[y

4Z.

Two coins re tossed at a time. The probability of geiting one head and one tail will be
Sod ABdnod oIre Jndibddui of Fl of Fdn TETlE Doyl Jod?

L=t ‘&

i 2
AY — By -—
LA y (B} 4

2 1
(E)  Mone of these (08 swch)
The arithmatic mean of 8, 15, 20, 1715
g 15, 20, 17 = ﬂ-uﬁfaﬁgﬁn 0T
[AY B (B} 20
(15 (o 17
(B}l Neone of these (8 o)
The medignof 5, 13, 18 21,25, 2715 :
5,13, 18, 21,725, 27 & ﬁﬁgﬁéﬂw Jod?
{AY 133 (B 183
iy 215 (M 255

(B} 19.5

If A iz B's brother, B 15 O sister and C 1= D's father then D is A's ...

B s A, C ng) 55758 B, D Gk, Sod Coond A8 Duccennn. P2,
(AY Brother (B Sisler
(T Mephaw (L Data inadequaic

(B} None of these (26 =)

Pointing to a gentle man, Decpak said, “His only brother is the [ather of my danghter’s
father”. How is the gentleman related to Deepak: ?
&35 w8 5380 Srdibe, 28D oF ¥ FSthd §5 Sirg Sof G0y, Sod vowd 3388 535

Sagy fomodida.
(A} Father (B} Grand father
(C) Tincle (L) Brother-in-law

(B} Meone of these (08 ma)

Tointing a person, & asn said to a lady, “His mother is the only daughter of your [ather”
How is the lady related to the person ?

5. Sg8, w8 B D58 5580 Srdir 06D SI7 Soib Gwd, DB HErD wond o (§ 36 558
Saify Homodie.

(A)  Sister (B} Mother

iy Wife (&1 Daughier

(B} Nome of these (28 =)

BRP-IS(2)-8002 (C) e C3



45, A cube of side 3 em is colourcd red on all sides. It is then cut into smaller cubes of 1 cm
side. How many cubes will have two uced coloured?
3 o, hain fo e wl) 3Ye Y o Scbados. T 1 Bos et fo
fodinsar SgEn h) PoTred” Gods 33 ol Sabad soircn?
(A) 9 {B) =
€y 18 oy 12
(E} None of these (38 )

46, Which of the fullowing is a leap year?
1 Bod R leap vear D&Y

(A) 19867 (B) 2002
{C) 2100+ Dy 1992
(E) 1947 »

47, How many Mendays are there in a particular month having 31 days of'a particular year, if
1he month ends on wednesday?
3 Ferend) Jud® D58 Py S8 sond @ Sodt 28 Fhorrescdron.
(A) 4 (B} 3
() 3 (Dy &
{E] Monec of these (05 se)

4% Rama was horn on 3% March 2008, The Republic Day (India) of the year fell on saturday.
Om which day of the week Fama was bom?
oz 2008 dHon Sy 33 arfaed D vl Dot 83558 rderm, Thand: D Feed

JYarday
(A) Tuesday (B} Sunday
(C)  Momday (D Friday

(E} Nomncof these (D& =d2)

45 What is the angle between two hands of a clock at 2 - 15 PM?
2.8 HBoirdod® Bods Sody 2015 PM acdm, 8 HdigEme?

1 1
() 125 (B} 2?5
e 27l# | Iy ‘—lu
] =3 () 1.-'2

(E)  Nong of theye (D8 )

BRP-IS(2)-8002 (C) =i C3



5.

5F

I the [ollowing alphabet series which is the 7 letter to the left of 10 letter from your
left?

ABCDEFGHIJKLMNOERQRSTUVWIXYZ

woll mEdined” Jdi dod 105 efernl JdhdD ﬁré; T wmEto D&

(A) A (B} C

) B { E

(E) None ol these (28 5

If the first amd sixih lelters of the word “CREDENTIALS”, were imlerchanged, also the
second and seventh letters and so on, which of the following would be 8% letter ffom your
right? '

“CREDENTIALS” 3¢odl) i Srdcin el eifdnw hirddirgon. ol Jdom Dok
Spdctn T witres Sodibhid vond b Sod 85 aftic J87

(A A M) T

iy D oy C

(Ey  None of these (08 =¢a)

Drirection {32 - 56) ! In each of the following questions, {ind (he alternatives which will replace
the question mark.
arddon (52 - 56 S #65) : & Sob Shud’ SMEIhe Thod H6dh GeyinarD 5T 08,

32,

53.

o4,

a5

56.

MAD  J3A BRUN: 7

(A) QS50 (BY PRI
() UG (I QRK
(B} MNone of thess (28 =)

TAME : OVHZ : - LUDG -7

(A} QZIT (B) GOAM
() GPY] (D) GOYI
(E) None of these (D8 s}

SOMNG : GONT : : FELT = ¥

(A) TELE J (B} TMDG
(C) TLEG (I} ELTG
(B} None of these (28 5a)

CFDG : LOMP : : HKIL : 7
(A) QTRU (By OQRIU
() PSQT (D} RUSV
{E] None of these (D& =)

TGIR : QILO ¢ : PKMN: 7

(A) NMKP (B} MNPK
iy QLNM (Dy QJEFP
(E) None of these (I3 s¢@)

BRP-IS(2)-8002 (C) -10- C3



Direction (57 - 61): These questions are based on the following table, The table gives the num-
ber of students in each class and the percentage of students in it who like Cricket, Volley ball,
Basket Ball and Football.

mrdtes (87 - 61 @ie 30%) : & Jod &%) SOLRNbed 59,0 empndald. BEEC 28 duied
woBleh Jmpdies w50 Sduk Jud FE0 Mol ST, TS, o Sod S

2
wihi slldad Srdodunbis.

Class [ MNumber Cricket | Volleyball | Basketball | Foothall |
of
Students | .
| & | 120 a5 T4 Sl 6%
7 140 50% 6% 60%% 50%
(& 160 40% | 65% 559 | 45%
g 1D 65% 75% 5% 55%
f10 | 240 70% B0% 75% 45% |

37, How many students in the school like Cricket?
dreTed” Joaiod Srylies @R niddet.
(A) 436 (B} 43z (Cy 491 Dy 311 (E} 340

38. By what percentage is the number of students who Tike Wolleyball in class 6 more/less than
lhose wha Tike Basket ball in class 107
B2l S8 Joddok odyrd g S o S50 105 S5r8t 28 erd adsE o0 T,
(A) 4% (B} 504
(Cr 5333% (L 56.67%
(E} Nooe of these (38 se)

33, The number of students who like cricket in class 7 is what percentage of the number of
students who like Football in Class 8 7
T dEnE FRE ansd LEpGe Sowg 85 E048S° JOrd agnd Fo Sowgd” dod TdEg?
(A} BR% (B) 93.5% () 95.8% (D) 972% (1) 9929

60, In how many of the given classes can more than 90% students like all the three sames?
0% 805 Q6B Lpdes 3 shes ASETRE I9) 48 dufe: Py
(A) 4 m 3 (Cy 1 (D) Wil (B} 2

61, What can !gn:: the maximum percentage of students in class 6 who do not like any of the
given games?
B3 06" @ardiom dodind O wis REE .
(A) 4% (B) 10% {Cy 509 (D 3% (Ey 20%

ERP-15(2)-8002 (C) -11- {3



Direction (62 - 66) : Study the following pie chart and answer the questions.
SEEN  E B, B2 - 66 30% Bdeh D Dol SRETIOD 538 SSrTnan Fubod.

Dhistnibution of male population state wise

Total male population : 3% Lakhs

Distnibution of femals population state wise

C 16%

13%

Total female population : 32 Lakhs

§2.  Whatis the raliv belween male population and female population respectively of the states
Aand I3 Jonmtly?

Afbdin Brgod® amar 9o sre H0dn § svwe Wig Jo8?
(M) 704 507 (B) 3507204

(C) 352:507 (D) 507:352

(E}) Mone of these (wf s°ch)

BRP-IS(2)-8002 (C) 12 C3



a3,

iad.

65,

What is the ralio between the female population of state G and the male population of
states E respectively?

Goiod & aay Sods Eogod Hod sammre 258 Jod?
(A) 39:40 (B) 40:39
() 17:18 D) 1920

(E} None of these (D8 )

What is the population of state *E* in lakhs?

B ogod”® amer Sont (o).

Ay 1114 (B) 8.58

(C) 652 o 1411

(E) MNone of these (D& )

How much poreent is the female population of the state "C° of the total population of the
satne state? (To the nearest integer).

T rgof ared § amer v (oot e,

(A) 48 (B) 55

(C) 62 Dy 59
(E) MNone of these (wf =)

What is the average population approximately of the given states (in lakhs),

&g Tlpred® JTHE g Sudmtom (e geet),

A) 6.5 i B) &
(C} 4.6 D) 56
(E} 10

BRP-IS(2)-8002 (C) -3 C3



Direction (67 - 70) : Which fzure does not belong to the group in ach of the questions 7 to 70.

Srdben (B7 = 70) : & fob afwbd Dodood o FE SEwmchinsdh Fedk?

I |
67. |1 L m | IV v
Hl A M| R
(M) I By I
(C) Ul LY
® v
e |1 1l i | vV
|
|
1
s_
(A 1 (B) I
(C) 1 ;M IV
(E}
g9, |1 110 v bV
] Ll 1]
(A) | (B) I
(C) Tl D) IV
(B} VW
0. [t m_|m N v
\ B [
£
(n) I By 1
{C) m i IV
(E} V
BRP-IS(2)-8002 (C) i




T2,

T3

74,

E

L}

A purse contains one rupee, five rupes, ten rupee and twenty rupee nutes in the ratio of
1:2:5:7, Their total value is Rs. 201. Find the number of ten rupee noles.

LE SIS 1:2:5:7 W driro, § drdroaen, 10 drdones SsBatn 20 drSroadtia
Eodnbil. 7O Sngin dr. 200 sond, sodhd &) 0 &rdron 3 Sopy Jud?

(A) 20 (B) 40
) s (D} 10
(E) =

IFA:B=2:3andB:C=5:7then A:'B:Cis-
AB=1:3300cduB:C=5: Taond A-B:C

(A} 10:15:21 (B) 2:3:7
(C) 2:5:7 ) 2:15:7
(B} 2:8:7

IE the ratio of the sides of a triangleis 112 - 3 and its perimeler is 42em, then the meassure
of the smallest side of the triangle will be -

28 Bn doarwn 11213 3588 SHipd ol hpFod 42 Dol wowd £05 dhain

SFED Doy

{A) 6oum (B) Scm
{C} Tem (D) fcm
(B} ldcm

How many square tiles of side 20t cach are newded to cover the floor of a rectanyular room
of dimensions 121 x [& 7

12 waibes x 18 siben Fodes 100 S360Fadod® f) oD S68masd 2 udibo

didprsdi Sofe ey T

Ay 27 (B) 38
) 4z Dy 54
(B} MNomeof these (D8 s)

In how many revolutions will a wheel with a diameter of 28 cm cover a distance of 80 m?
28 Too. TgHium So WEhn 550 Dot Botrdouinas JErdy BEMH7

(A) 6 (Bl &

) 16 m 12

(E)  None of these (D8 ses)

A square has a side “a”. If the side is doubled i.e 2a, what is the ratio beiween the old end
new areas of square?

%8 ddidpin dnf), thain 9’ oD g 980y 3% (vsm 2a) £ dETa) 98k T8
Boboin Fg gddg FFogine N8 Jod?

(A) 1:2 (B) 1:4
iy 1:3 Dy 1:5
(B} Mone of these (D8 5¢)

BRP-15(2)-8002 () -15- C3



Direction (77-79) : What comes in place of the question mark (s) in each sequence in questions
77 to 79.

Spdden (77 = 79) : 77 - 79 435 fo odFSinoed BT g :3;5 SR,

770 &', a'att, a'batbiathny

(A) a'b'a'ba’bia’d’ (B} a°b*a’b'a’b’
(C) ab%’bia’bla’ b’ (D) a'b*a’ba’b a’bia’bia’®’
(B} Mone of these (o8 =)
TE KT FT——ExRTF+——-T777
fA) +—+=x S e
fC) xmxt (D) xx+x

(E) None of these (D8 5a3)

79 al3d; esTh ?T2%, m 1315 g
(A) i44/ (B) ¢70¢
(C) i911( Dy i l19d
(E) None of these (25 z<0)

Direction (80 - 84) : Thers is a certain relationship between two given words on one side of -
and another word is given on the other side. Find the missing word which has the same relation-
ship with this word as the given pair of words has.
srdiden (80 = 84) @ abgde sdwdid e Sd: Acwodin adrmdad. TN winied sdmin
SR 55 STDy ET ok
80. TENCIL : NEPLIC :: MANGET : 7

(A) AMNEGT (B) NMATGE

(C) GNAMET (I NAMTEG

(E] Mone of these (28 =eh)

1. DEAR:FGCT o READ:?

(A) FGCF (B} TGCF
{C) T&EFC () TCGE
(E} GCTF

82, 1B:342::21:7%
(A). 441 (n) 420
(C) 484 (D} 452

(B} MNone of thege (D8 =)

23, INDIA:ASIA:: ENGLAND 7
{A) EMGLISH By AMERICA
Ty LONDOXN ; (D ATSTREALIA
{(E} EUROPE

84, Janmary : November : ; March 7
(A)  Jaly (B} January
{C) June (D1 December
(E) None of thesc (& zd)

BRP-IS(Z)-8002 () 16 3



Direction (85 - §9) : In each of the questions from 25 (o 89, two words are given in capital letters
separated by a colon and have a cerluin relationship. Identify the relationship and select from the
answer choices a pair of words which heve similar relatiomship.

srdden (83 - BO) @ 85 b BY 30 Tok 0w, of donodod 28 So0nlsl o Someds SO0
&) SPw mdi §5RT 08,

25, BODY ;HAND
{(A) Pin: Mail (B} Chair; Table
{C)  Automobile : Wheel (I} Thom : Flower
(B} None of these (08 =)

Be. PISTOL : TRIGUGER : ;
{A) Sword : Scabbard (B} Gun: Holster
(C)  Motor ; Switch (D7 Rifle : Soldier
{E) None of these (28 =)

87, RADIUM : CURIE : :
(A) Muscum ! Arlefalt (B} Atom : Galileg
(Cy  Telephones @ Bell (D) Drama: Shakespearc
(E)  Mone of these (D& Ta:)

88, CANE: BAMBO:
(A} Wood @ Woodpecker i} Timber: Tree
() Babber : Malayvsia (7  Elephant : Tusk
(B} MNose ol these (08 =)

B9, OCEAN:SALINE; ;
(&) Ioncy - Bee (B} Sugar: Sweet
(T} Fuosc: Red {2} Heawven : Paradise
(B} Mone of these (28 =)

Direction (%0 - 92) : In each of the questions from 90 g 92 there are five suggested answers for
the given blanks. Find the correct answer for the blank space.
e (90 - 92] : 90 &od 92 285 uind S el FRedh IB5 S5CTSN Gl

M. B & ] D
I 4 17 M

M, s e B

(A) 17,22 (B) 16 21
(C) 15,20 @ 14,19
(E) 18,23

2% &5 e 10 W
L 28 20 P

B e o

(A) 30,38 (B) 38,30
() 40,32 (D) 32,40
(E) 35 41 '

BRP-IS(Z)-3002 (C) «17. C3



2,

o3

G,

95

G 3% 33 I
C 47 41 F

E - - b

(Ay 17.3 B 3,17
(G 151 Ly 4 12
() 1,15

In a certain code languages,

“Kew xas huma deko™ means “She is cating apples”

“Kew tcpo qua”™ means “She sells wovs” and

“Sul lim deko™ means T like apples™.

Which words in the language means “She’ and “apples™.

a¥ rhdt

“Kew xas huma deko" wdm “She is eating apples™

“Elew tepo qua™ edm “She sells loys™ Sobcis

“Sul lim deleo™ wadmr “T ke apples™.

wond *She’ Hobdcain “apples” v Srdod S,

{A} *Xas'and ‘deko’ (B) ‘Xas'and ‘kew’
{C) “Kew'and “deko’ (D) “Kew’ and “Xas’
(E) “deko’ and “tepo’

In a certain code lanpuage -

“743° means “Mangoes are good”

*657° means “Eat good [pod” and

‘034" means “Mangoes are ripe”

Which digit means “rips™ in that languase?

uf nd”

43" e “Mangoes are good”

057" i “Eat good food”™ S:Bain

9347 e “Mangoes arc npe”

“ripe” wd Sody Arded dopg

(A} 3 (B} 4
(Cy 9 (B g
(F)  None of these (256 ek

If BOX is coded as CDPQYZ., what will be the lasi two letters of word in the same code
for HERO?

BOX #s CDPQYZ & #»8h HERO D #rded 550670 D50 Bod widines 207

(A) ™, M (B) M, N

©) BQ ® Q.P

{E) None of thesc (& &)

BRP-15(2)-8002 (C) 1% 3



gl

Il dust is called air, 2ir is called fire, fire is called water, water is called colour, ::x::]uu:r 15
called rain and rain is called “dust’, where do fish live?

dustio airem aird fireed fire & water &2 water % colonr 23 colour 5 rain e, rain o
dust wodl Thes D5HoH BER50.

{A) Dust (B) Water
(C) Colour (D} Fie
(E) Rain

Directions (97 - 101) : Read the following statements carelully and answer the questions given
below sach of them.
wrddey (87 - 101) ¢ & fob PIS3ZweRn Dour $S6I T8 eksohsnr sdindn @ioi
el et

97,

94.

98,

100,

R

Six persons a, b, ¢, d, ¢, fwere playing a card game. a's father, mother and uncle were in
the group. There were two females, ‘b’ the mother of a’ got more points than her husband.
"d’ got more points in the game than ‘e’ but less than “£*. Niece of *e’ got the lowest points.
Father of *a” got more poinls than “f* but still could not win the game.

28 D8 eii a, b, ¢, d, e So8atn fudiad, ‘2" Gug, do8, 50 Sibdin S8 o8 dar
ﬁajl:i} L RS Reo. a7 Bwg), & ‘b' & gy B .uéahé %occae.g roodad, d w3
Ig o’ €I JEy S Sabao 7 S c‘I-!E:q $ frowods ér-ﬂ‘m:?ﬁ: ¢’ G Difden wodbd
Eam @ﬁ-:;u.. :‘hu:.uu:. FEotod. ‘2’ dug dad o Eamy oMo B m:rm ardolla Wi
3&}535&&:‘5?&,

Who won the same?

wsdnd J58 Ndod?

(A) a (B} b
© @ d
(B} Nooc of these {08 =)

Who got the lowest points?

woldl Bam ddg arusiotn arGoDodady?

(A} a {B) b
€ e M d
(E} None of these (28 =e)

Who is the hushand of *B™
D Sood), & oY

Ay f {B) ¢
Yy d (B ¢
(E)  None of thege (08 =) E
Who was the lady in the group other than *h'?
B Tsom 48 B 562

(A) © (B) d
(C) e D 1

(B} Mome of these (D8 mds)

BRP-IS(2)-8002 () -1 C3



101. Who stood sceond in the game?
esbaef® Bodd FAT deadol 50T
(A} =& B) b
(C) « ) d
(E) None of these (28 Bda)

102. The dimensions of a rectangular plot arc 175 m * 100 m. Allowing a width of 25 m all
arpund and inside the plot, a house is constructed. What is the ares of the plot unocenpicd
by the house? (in m®).

175 Don x 100 Son Podes $088 SGSSddrsoly jood’ ol 3o 25 du &ho Bep
ajodadol. @ (H5E Jregto Jod?

(A) 7300 (B) 11250
(C} 5000 (D) 8000
(E) 6250

Direction (103 - 104} : What number comes next in each sequence in questions 103 - 1067
ArEnes (103 — W06) : @Fed 2ld sdfldnd SRl dugy Hblek
IV c P PRl Vol e TR

(A) B (B} 15

L0 I o18

(E} None of these (38 54)

104, 1,2, 6, 15,31, 56,7

(A) 81 By 90
(C) 85 (D) 87
(E) 92

105, 1,4, 27, 256,31257
rA) 42345 (3] 46654
(C) 36366 (D) 47566
{E) NNonc of these (35 54

106, 0,1,1,2 4,8, 16 32 7
(A) 48 (B}
C) % (o)
(B} Mone of these (08 5~

g R

BREP-15(2)-8002 () =2{- o3



TfEP : hen T
187, P = e ey, B 15 )18
7 5 TI:;l', wn I () is

-

B

3 5
[fzj‘ﬁjqjum.‘&-]’:{;‘l &

(A) 15:2% (B} 12:35
(C) 8:11 P20 :21
(E) 21:20

[08. Inan examination, there were 2000 candidates, out of which 900 were bows and rest wers
wmirls. 11 32% ol the boys and 38% of the girls passed, then the percentage of failures iz
a8 20865° 2000 Booa wifipdies e o, 900 fod e Sbaty il M IOy, 32
To Tenth el 38 TS0 wifes S05F° GAGEE, Jod e BELS sdhes oD%,
(A) 3532 (B) 64.7%
(T 68.5% (D 70,
(E) None of the above (28 o)

109, Neha walks | km to Bast and then she mms te Svuth and walks 5 km. Again she turns to
Fast and walks 2 k. After this she turns to Naorth and walks % km. Now how far is she
from her starting point?

R drdndt 18,5 Goiredn 308 SGIS SE-08 5 L, giirao Fhoded, didedsde
drdn® D58 2 .20, Pubree T8 SHTd Gdds 9 &5, Peirac Shd 85 SO
Hood 234 Jod drfed Gol?

(A) 3km {(B) 4km

(C) 5km (D Tkm

(E)  None of these (98 )

110, A snd B arc brothers. C and D are sisters. A’ son is I35 brother, How is °R’ related to *(C°7
ABaldio 0 &8s, Coaaty 1 o0 B8 Soemne, A-:f‘.a.:-ﬁ& Fasds D o 228 gond BT
8t 0 e Sadis Honoddsag,

(M) Father (B} Orother
(C} Uncle (D) Grand Father
(B} None of these (38 )

111, The letters of the word RACTOR are in disorder. IT they arc arranged in proper arder, the
narne of a vegetable is formed. What is the [ast letter of the word so formed? _
RACTOR &3 5808 s5tran 535 00 |758 nE Sabird S St wend A D58

wido 24,

{A) A (B} 0
(Cy C Dy R
(E} T

BRP-IS(2)-8002 () =21- C3



112, Ifthe first and second letters of the word wCORRESFONDENCE" were interchanged, as

i13.

114

115.

114,

well as the third and fourth letlers, the Lith and the sixth and so on, then which of the
following shall be the lenth letter counting from mght?
#CORRESPONDENCE” 58060 3, Dok wE0m st Bohedmon of Adom
Sageda, eoihy, o Sbaks e, oo, Sy Sotom hBS Aol Sb fod 5T 105 wEdo
.

{A) O (B) P
<y R D) N
Ey &

Which one of the following number will occupy the blank spaca’
& o Hhod gagse (7) Srded Howj a7

19 2 21 ¥ [
A /N A
16 14 | A

{A) Bod By 1234
(C) 1356 (D) 862
(E) None of these (24 563)

Wadhav ranks seventeenth in a class of thitty-one. What is his rank from the lasi?
31 Ssob @i S5Ras Srdo by ool 17 wowd, D56 foof odd ogol LoE?

(A) 13 (B} 14
(C) 15 (D) 16
(B) 17

How many 57 arc there in the following sumber serics which are either preceeded by six
or [ollowed by 77

& \Bod o¥mhd uolu Fhod’ B Snots B Tho dtoTd I Soo ot
31245675657247566357

w1 B) 3
(© 2 D) 4
By 5

How many numbers from 1 to 100 are such 2ach which is divisible by & and whose atleast
one digit is *8"7
1 #o0d 100 Hd#E Ao :‘:-uq::g:ﬁ‘ i Hompen R %55-09.? B Aol B 58 yrAodndaon,

(A) 4 B) 2
(C) % (D) 6
(E} 3

BRP-IS(2)-8002 (C) 21 C3



7. A ABC is a right angle triangle. AB = 10m, BC = 24m D is exactly located at the middle
of AC. What is the distance between CD?
ABC woula Béhacd® AR = 10m, BC = 24m Sf s ACI; 8ot Decad CD g

cirdo.

A

BEI_[‘;'UI:' Hli'f‘
(&) 17m (B) 7m
(C}y ESm (MM 135m
(E¥ -13m

118. Which one of the following diagrams comreetly represents (he relationship among the
Iollowing classes. Hyderabad, India, Asia,
T, UEsTin, wbhar sodine D¢ Bowugr) Srdodd CER R LR
A

B C ID— E J
119, Which number indicates good speakers who are neither post graduates not doctors?
Post graduate Sabods S PRLT $8) Hod $Hes Joddob.

L Good Speakers L

M Post graduates 5 M
L B1080 Sges ave

M Post graduates iﬁ%ﬁuﬁamj w

N Eﬂ&.}gm M

{4) 6 By 2

() 5 @ i

(Ey 4

120. A is father of C and D is son of B. E i brother of A. If C is sister of D, how iz B related
o B7
C ok, ub A B Gug Tk D E g, 39560 A D Gws, 260 C swod B
Mob@in Eo Sl Homogis,
(A) Brother-in-law =v$ %008 (B) Sister-in-law $83% 8% Suddes
(C) Husband # (D) Daughter srddh
{E) Nomeof these (38 )

BRP-IS(2)-5002 (C) 23 3
XY



121. If 5* January is Thursday of a leap year, then 2 Warch will be
o Leap Soddos aist Do 55 G hoartin sond irf) Dog 25 Daddch.

(A) Tuesday (B) Wednesday
Hachdado s
{C)  Thursday (D) Friday
fudeardo EETG
{(E) Samarday
s,

122. What fraction is equal to 83 }4% ?

B3 Y% 0 Dmds Hamo.

(A) 35 (B} 57
(C) 56 (D} LG
(E) 38

123. Express 37 as a percentage.
50T i mdod rdlod.

1 1
(A 565% (B} 79;%

1 - o i
() ?‘T;& (o) .-1_Jr T

(E) None of these (2& 5]

124, What is the value of 15% of 700 + 17% ol 4007
15%, of TOO + 17% of 400 dosd 2od?
(A} 341 (B) 371
)y 731 By 173
(B} None of these (28 5260)

125. The population of a ¢ity increases by 200 every year. If the present population is 72,000,
then what was the population one year ago?
nE i%mc-ﬁ‘ marar 20% ;Sﬁ Bochdol. Pigd 2oy 72,000 sowd wf Hodehd ij‘dﬁfm

ST wod?
Ay 52,000 (B) 55000
iy 28000 (Dy 62,000
(B} 60,000

BRP-IS(2)-8002 (C) -4 C3



126, The sum of a munber and two numbers preceeding it is equal to 50, Find the number :
8 Somg daddn b Sood Sdy 2 56H Dopge Iwddn 50 wond & Hopg Jod?

(A) 25 (By 29
<y 27 (D) 24
{F) 26

127. H2x+ 7 =19 what is the value of 5" .
Zr 7= 19 Mo “x' Jend Jod?

(A) 3 (B) 4
() 6 i s
(B} I3

128, An article is bought for Es. 800 and sold for Ry, 900, The gain percent is -

w8 Sd3gdd or. 800 O dr, 900 @.ﬁ;@}m sl erdiTdin

1
(A 10% (B} Ilg%
(s 1 ¥ ; !
10—% Dy 12—9
() 3 () 5 %
(B} 15%

125. Dy selling a radio for Rs. 2000, & person got a profit of 25%. What was the cost price?
2F DAErD dr. 2000 elym 3y erge 23% wowod B Dw Jod?
(A) Rse1500 (B) R« 1800
Ty Rs 1700 (D) Rs.1a00
(E) MNone ol these (D8 s)

130. The marked price of an article is Rs. 400, A person bargained for a discount of 25% and
bought the product. What was the selling price?

eé dng ?@5 dwed Er, 400, 00 5% éﬁhbn"’:lﬁa Bdo 2 FPOS Sidgs {Sméﬁ ae a0y
(A} Rs, 425 (BY Rs 373

{C) Es. 250 (D) Rs 300

(E) Monc of these (D6 =)

BRP-15(2}-8002 (C) 25 C3



131

By selling an article al 20% loss, a retailer loss Rs. 160, What was the cost price?
wf Soddo 20% Bapl8 edym Sy Sgde o TED ot 8 dNew Do Juda?

Ay Bs 1000 {13y K= 800

() Rs. 900 (DY Rs. 1600

(E) Mone of these (28 &)

. The ratio of cost prices of two articles is 2:3, The profiton them is 10% and 20%: respectively.

What is the overall profit percentage on selling these two items?

Tod SHyge B Joo 25 2 0 3 TED odym SE e St 10% Sebcdu 200
wowd Jode od vy & advds Jod?

(A) 16% (B} 12%
(C) 6% o) 0%

() Nomne of these (24 i)

Direction (133 - 136) : Select an apprupriate answer to roplace the question mark among the
choices given.
arddhes (133 - 136) : & ol Pfed’ BFEEte £5 508 SO Ghediad,

133,

134.

L5 7 ]
K 4 i il 18
14 19 27 7
26 35 | &5 [l
(A) 34 (B) 36
) 30 (D) 3%
(B} None of these (08 sc)
b
5 27 !
(&) 49 By 50
(O 4% (I 53

(E}  Mone of these (28 =)

BHP-15(2)-8002 () -Zh- C3



9
|
!.
14—.—
|
2
(A) 210 (B) 450
(C) 70 (D} 150

(B} MNome of these (D8 k)

Jf ! I i
DU
3 3 Y

(A) 235 B) 141
(C) 144 (D) 18%
(E) NMone ol these (D8 =)

136

Direction (137 - 141} 1 In each of the following questions, there are twao statements {A)and (B)
followed by four conclusions numbered 1, I, 111, and IV, Though the statements are at variance
[rom comimonly known facts, vou have to assume thern true. Resd the conclusions, and based on
the mformation given in statements (A) and (B) decide which of the opinion fallow:

araines (137 = 141) : & Eod pihed’ (A)Sobds (B) s Bod EeEtdew PEY eRdied LI I
wbay IV rociine simbll, & dédrw o #00s voTw. =0 Sdrin sl =2dmss
Fooived 353 OO0 hoded.

137. Statements :
A All pens are books
B.  All books are tables
Conclusions :
L All pens ars tables
I All tables are pens
ML All baoks are pens
IV, Some tables are books,

BRP-15(2)-8002 (C0) 27- C3
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e o

A Beloo elche Y3500

B. ijégfaﬂﬂﬂédﬁj e eI,
Arorodidaaes

I fodowe wichs e spw,

I S oge: odds fodoos.
W, 5ssme edee fosues.

IV. £33 sges doEdh 355w
(A)  Omnly II znd III follow

(B} Oniy 1and IV follow

() Omnly I and TIT follow

(1 Al conclusions follow

(E} MNone of the conclusions fullow

138 Slalemaenis

A,  Noirzin iz a bus

B, Nobusisatmck
Conclnsions :

L N Irzin 15 2 truck

[l MNotruck is 2 bus

LI Some trains are trocks
IV,  Some trucks are trains
mddares

A, 9 Do nf wd) S

E 2 akyy wE E0F 5,
Frodhne

L 2 Deo of @F 5,

L 2 0E e ady s
III. &3 gey, i

IV, &3 fSe, 3ay.

(A Only I [ollows

(B) Only II and 11T follows
{2} Only I and IT follows
(D) All conclusions follow
(E} Mone of the conclusions follow

BRP-IS(2)-8002 ()

(A)
(B)
(L
(I
(E)

(A)
@)
(C)
o)
()

-2H-

11 Sobicdao 1T 3m83 wddtiron
I 3oBafe IV Smddy elbtdnon
[ SsBotzy T EmEd ededtaron
i) Foorer pidiiEen

S8 efahaodds

[ sl wdnsdod

11 fofcion IT] Sm@ds edanbdrol
[&bote Il Smgd odonbion
i) ProPoy o

ol sditosse.



139, Statements -

i40.

A, Some candles are nof sticks

B. Al peneils are sticks
Conclusions ;

[.  Some candles arc pencils

[I.  Suvme candles are not pencils
L. All candles are sticks

IV, Some sticks are candles
ESdaes

A PR BFrdien, digon 3.

B. el b, e

L 7 Fagdes 20,

1L £y Fapdaen DNy T

ML B Sedges oinmn Hgos.

IV, Eges ¥ BT,

(A Onby 111 follows

{B) Oaly Il and IV follow

{C)  Only IV follows

(D} Only IT follows

{E) Mone of the conclusicons faollow
Statements :

A, Mo man is good

B.  Sume good men are sainls
Conclusions

I Some men ars not sainis

II.  All ven are saings

I, Somne sainis are not men

V. All saints arc men

Emtiaren

Al D Bk Lol s

B, oo dodotner Fodlscd Erten.
FTofineg

L. Fodded Sadxfe i e
IIL Sedoibon soditr Sedio.

T Goefows Foddod Ssdofme 5.
IV, &rros goddr Sabaie.

(A} Only I follows

(B} Only I and III follow

(C)  Only IV follow

(D) Only IIT follows

(E) None of the conclusions follow

BRP-IS{2)-8002 {IC)

(A)
(B)
©)
(D)
(R EY)

(A)
(B
(C)
(D)

III 5m@5e wiohsioed

IIT Sobaes TV domgiddy sieiodgod
IV &858 wisdbied

1 Srgds ekited

28 wiBsoYs

T dmgds ofdoied
Isatain I dreids wioibiges
IV Sofs edetdnd

1T dimgdo wibnedod

E 2 froodsio odhdbots

=20

C3



i41. Statements :
A Mo apple Is an orange
B. All bananas are oranpes
Conclusions :
I All apples are bananas
II.  Some apples arc bananas
IM. ™Mo apple is banana
[V, Some bananas are apples
[Resaren :
A =bE I8 dro Sioer srch.
B,  ooiihd) odchs Shere.
AR
I; wad Wil cda Hf:E-tE:':{i}g.
. whd, Fo drm@ sty
ML whé J6%rE wéiddod Tk,
I ﬁﬂ%t-:':uﬁ: Fin wieren sl

(A} Only 1T follows (A) I dm@dh edbsdioed
(B} OnlyIand I follow {B) T S8t 1T Smdds widsdtdyed
() Only IV follows (C) IV S sidohios
(D} Only 11 foliows (M) T arEdh oddodoed

(B} MNone of the conclusions ollow  (B) & #roveddo srendoidich

Direction (142 - [46) : In cach question below is given a statement foliowed by two assumptions
numbered [ and II. An assumption is some thing supposed or taken for granted. You have to
congider the statement and the following assumptions and decide which of the assumptions is
implizil in the statement.
Arases : (Fhogy 142 fod 146) 585 o @38 36T of PIU530 T0 oRdted Todk PEJrdte
ISobake Madinbad. HOSES siT o6 S8 6l SHTHI0hIE, 48 DoEsl i Ha&sw
SiEtod) W [k v e R e s e agdz{i};gﬁ&.‘ ;.‘lgm:c-s.iﬁﬂ.

Give answer (A) If only assumnplion T is Implizit

Give answer (B3} I only assumption IT is implicit

Give answer {(C) If cither I or [T is implicit

(iive anywer (I¥) If neither { nor [T is implicit

(Give anywer (B woth T and T1 are fimplicit

142 Btatemenl ;
If Abhi has finished reading the instructions then lot him begin the activities accordingly.

Assumptions :
i Abhi would understand the instrctions.

II.  Abhiis capable of performing the activities.

B

wf Srddod $53 wol, SddvhaoT FEHEirD) Eriodoh.
EHEIRSN

L =ddrdie L Hitogacards,

I = sdgEied) Sfor Ddirediod.

BRP-IS(Z)-8002 (L) -3 C3



143,

144,

Staterment -

We need not worry about errors but we must try to leam from our errors,
Azsumptions ;

L Errors may take place when we are carrying out certain work,

Il We are capable of benefitting from ihe past and improve our chances of error free
work.

st
5:5'):-'3 foBod ardtdiohs oddde J 5o o8 Aiod 3-:&:;,?&&!,

mfardd
L 23> e8s2 dhdidad dipes Sdrowm,
. dAgo Swd of o, Pilyde dipes Bhoor 50 dchHiie Raawa.

Statement :

It is desirable to put the child in school at the age of 5 or 50,
Aszsumptions ;

[ Atthat age the child reaches appropriate level of development and ready to learn,
Il The schools do not admit children after six years of age.
bS]

5 o 50 Hon Sebiyd hoad Fered® Scnh e3bde.

EbteT e
L o Sabige dumds SGmas Sobsm eI S0 535 €855 ow toknob,
IL B dos ddaad Sdrod Sd708 abddodd,

Stalement

No regular funds have been provided for wellare activities in this year's budget of the
factory.

I The lactory does not desire to carry out welfare activities this Yedr

Il Budgetory provision is necessary for carrying out welfare activities.

Basddn

Sryrdin g, ofd Sod & SoddEn Huls PUpgiret Do Sireued B,

[ =H

L doyrdin ¢ deddois Sodh sdpEiadnn Sdped Fibcdd,

O 50l eopgires 250508 w38 Hod S S 20,
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Statetnent ;

The government has decided to reduce the custom duty on computer peripherals.
Assumptions :

1. The domestic market price of computer peripherals may go up in near firnure.
II.  The domestic manufacturers may oppose the decision.

BEEEss

& Doddyidn fodrotsf 2EHEG Sody §55 1;'«2&.- SRoDaE.

EEPS

I Sdrdod” Holrpad HELUE) ot S008 S50 80T TS

o éﬁﬁ-? dory Serdrun ¢ Agalrd Sp@tsodday,

Diréction (147- 151} : Read the following information carefilly and answer the guestions,

SrEnes R Degp M7-151 S48 Go @hen & fod SNPOUSR BolsT S00 SHrptisw
e i

147,

AL B, C, D and E arc five cars while I, O and R are thres motareyeles, Ads the lastest ol the
cars and B is the slowest of the motoreyeles, s costlier than D and Q bul cheaper than B,
Among curs, A s not the costliest. D iz cheaper than E and there is no car whose cost lies
betwesn the cost of these two. E is faster than three of the cars and all the motorcycles,
iz costlier than B but cheaper than I, whe is faster than Q.

AB, C, D 350bcln E oo wondh ody. P Q obali R eo SpdE ovdsno, 590" 08 Irkom
Fiha Avond B Tl wa Sdgam ¥éha R C Swd), 98k D St £

5 =9 BEay ééa&:: =gt Awdrod .ea&aaa wei. Dpleh Efam diy S dhdohn o8
Fodis W 8 pich de. s | damds i Bk Bl o BieiiE ;:P“’"*r_u Eod Jfomr Seol.
Q @o¥, 98c R $m) 2895 w4 PEmy 459,8, F3ne Q Sy aty

Which of the following cars can not stand exaclly in the middle position among cars as far
as their cost 1s concerned?

2y @raEdad Sl doodddE D 5,

(A) A (B) B
) ¢ (D) D
(£ E

BRP-15(2)-8002 {C) =32 3



145, Which of the following statcments is true about the motoreyeles?
GrdE mirTo gy & 20l TAS DA Degia
{A) P is the costlicst as well as the fastest migtareycle.
(B} The fastest motarcvele is not the costliest motorcyele,
(C)  The slowest motoreyele is also the cheapest motoreycle,
{I¥} Both (A) and (C)
(E) Both (B) and (A)
(A} Podd dm sées SifSodBNa fbcte PURIA.
(B) wdged Sridoddnss, wdrod niGas b,
(C) odpondiod” Fahd wa St plSha.
(D} (A)%addio (C)
(B} (B) fabcta (A).

[49. If P is costlier than E, how many cars arc cheaper than P?

E gc':la P :pE_‘E_éE;- wons, P §ﬂ a8 5 mbch Ko E‘ti.g .I}ﬁgbx
(A) 1 (B 2
cr 2 (D) Nil {Zeam)

{E) Cannot be determined (DgbosBian)

I50. I Pis cheaper than A which is not costlier than E, which of these is the cheapest of all the
cars and motoreyeles put together

Aem E ) pifda o o P £ iy wond s Sboln BuisirTod’ SRR

38,
(A) R ® Q
(€ E D) B

(B} Cunnotbe determined {?:-gﬁ-m:ia Saa)

151. Which of thesc is the slowest of the cars, it B and C are [aster than D7
B St Cew D #) Sf048208 & o 206" 08 Sigs 3rod” #dd,

(A) B (B) D
© E D) A
E C

BRP-IS(2)-8002 (C) 33 3
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152, Find ibe value of x, where x = —+ 5+ —= + ¢
C. N T PR
2 & 5
= -+ 7 7+ 5 vemd xadeed.
3 3 3
13 11
A) 1— Bl
(A) 7 (B) -
B 23
5 I s D 1—
© 17 @ o

(B} None of these (28 =)

133, Ex+y=5andx—y=1, what is the value of ¥ — 32
xtp=5Sobaio x—p=1 wowd x* ) Jeod

(A) 4 B) 6
© 7 @ 1
.:E:. A

154, The average of x and v is 20, The average of ¥ and = is 30. The average of xand £ 35 10,
What i3 the averape of x, p and = put logether?
x ZoBcin p o BoRb 20, p Hbotn z o S0 30, x Sbcle z e S8 1M wond x,
Hobictn £ o ZOTRD JoaT

(A 10 (B) 15
() 20 (0} 30
(E) MNone of these (33 &)

1535 If ¢ = 1296 what is the value of 27
=129 owd xooast
(A) 24 (B) 34
() 36 (D 26

{F) None of these (28 s~t)

156. The ratio of the present ages of a man and his son is 7:3. [T the age difference between both
of them is 32 years, what is the age of the son?
doif ftcin Rirge Fd Sobine 4@ 7 3 Sids Tb Schige Sl 3T 32
Hodddino sond Rlrid Sokiy Jod?

(A) 33 (B) 27
() 24 D) 30
(E) 36

BRP-TS(2)-3002 () -34- C3



15%

158,

158.

L&0.

161,

L&Z.

Anumber exceeds one-fourth of itself by 30, Find the mumber,
w8 dogg THE Tl Sod g 30 2558 wowd © Sopy,

(A) 20 (B) 30
(C) 25 Dy 50
(E} 40

If the sum of three cong=cutive even numbers is 30, what 13 the middle number 7
Bamehy Bl ﬁﬂ:ﬁ*&-:pgu Seodio 30 ®oad oSS Hodfighong.

(A) 8 {B) 10

) 14 (D) 12

(B} Mone of these (38 =)

[f8c# 5 —3x=2r+ |1, what iz the valuc of x 7
Bx |t 5=3x=2r 1] wond x duwed Jog?

(A) 6 (B} 2
(Cy 5 (D) 4
(E} Wane of these (08 5¢5)

Ina elass of 50 students, the number of girls is 20. The average weight of the baveis 50 kg
and the class average weight is 40 ke, what is the average weight of girls ?

50 daod dTpdend) S0£8¢ e momg 20, wrend 2ol adsd 50 Fdon Sobain ITpdin
RHE ot 40 Bden wond Wl HE0 ol Jod?

(A} 30kg (B) 35kp

€y 20kg (D) 25 ke

(B} None of these (& =)

The sum of two numbers iz 33. If the product of these numbers is 266, find the smaller
number

2ok Sosgs Indln 33 Sebcdn T8 epd 2686 wood FESD BN Homy.

(A) 12 (B) 16
(C) 19 (D 18
{E] 14

The sum of four consecutive integers is 102. Find the product of extremes.
Teale H0E Foeso Tedse 102 vond o6 Sodge O,

(&) 634 (B) 486
(C) B4e (D) 468
(E) 648

BRP-IS(Z)-8002 (C) -33- C3



163, Thres vears ago the average age of A and B was 18 vears, What is their present average
age 7

Srdo HoddTro Sdo A Dbcin B Jwf) SR8 Sy 18 Hon wond Tb Pigd S8
Dedyy Jod?

(A) 24 (B) 18
(cy 15 oy 21
(E) None of these (D8 z¢&:)

164. The total cost of 8 pens and 10 erasers is Rs.136. The total cost of 20 pens and 10 erasers
ig Rs. 256, What is the cost of a pen 7

g ferfapen, 10 da::lﬁu pich dr 136, 20 Fedaoes, 10 da:;lﬁe-_a pfd dr 256 wond Sedn

el Jod?
(A) Rs.B (B} Rs.b
(C) Rs.12 (D) Rs10

(B} MNone of these (08 =)

165, Ifnine is added to both the numerator and the denominator of a certain fraction, the fraction
becomes 34, I the denominator is 15, what is the numerator 7
£ DH%es'd wiin Sbdn ool § fodmr vl Mieddod DEed's Foow 15
pond onds Jed?

(A) & (B) 5
o 7 D) &
(E} 9

166. The sum of the ages of a man and his son is 53 years. The difference between their agesis
27 vears. What is the age of son 7 '
Soif Sabdin SaSrthe Sdibiy Budle 53 Hon 0 Scbiye By Bokn 27 wond Sdrid

Sasdy Dod?

(&) 10 B) 11
© 12 (o) 13
(E) 15

167. If the side of a4 syuare and the radins of a circle are cqual. What is the ratio of their arcas?
Area of Square ; Arca of Cincls)
wf Sdge o, theo Bocn of Sy dud, Fgrde dardfendypds, T8 Fregee
éﬁi:ﬁ'_i otrndh?
Ay 12 {By 2:1
Wy It oy T22
{(E)  None of these (35 5}

BRP-IS(Z)-8002 (C) -3 c3



169,

17,

171,

172,

If x =24 then y = 40, find out the valuc of x for y = 130.

x=124 wondivd y=40wend y= 130 gondibpdy « Dol Jod?
(A) 70 (By 72

(cy 74 (I 78

(E1 80

Find the towg numbers which are in the ratio of 7:15 and whose difference is 72

Bods Sompe JNG T 1 15 bek TE Sw, 30 72 vondipd o8 Seageid B 5T
(A 56, 128 (By 03,135

(C) 49, 105 (D) 35,75

(B}  MNone of these (38 =)

The incomes of P and Q are in the ratio 2:3 and their expenses are in the ratio 53, The
difference betwesn their incomes is Rs. 5,000, If the difference befween (heir expenses
is Rs. 4,000, What is the ratio between their savings?

P Soboian Qo wirdbe 21§ SA8° addvds 28 Swf), adper 315 0038 ada, &

Tty wordhine Spevgdo dr. 5000/ 0 Gy wine Bearsio dr. 2000/- weniivd
70 @), Do A Jod?

A 12 (B) L
(Cy 233 (o 4
(E} MNone of these (06 ).

[ S |

Aman distributes his properly of Es. 6,00 000 between his two sons. The share of bis first
son i3 thrive (he second son's share. Find the share of the second son,

wh Gf 40 6 ofe drdobe s add Sdcdod SoEd Todd L0008 S0nd sl
Bodd Sededan $08 Sk Sty JEpd. wdnds Todd Sirdhdl 0 ol Jod?

(A} Rs, 1,00,000 (B} R 1,50,000

() Rs. 200,000 (I Rs 300000

(BEy  Mone of these (08 s,

How many peime numbers are there between 80 and 10007
80 Zalaia 100 Sadige® ﬂiﬁé}_‘ o Homgos 2P

(A) 3 (B) 4

iy 5 Dy &

(B} None of these (28 =4a),

BRP-1$(2)-8002 (C) 37 C3
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173. Which of the following number lies between E and E

174,

175,

176.

177

173.

1 1
% S0l TR o f:-m;g:-gl 1 Hxboata ; Sogy droduol.

7
Ay B)
LY } 24 {-

. 25

(8 P (D}
(B} None of these (& =¢h)

The square oot of 87616

87616 Cng Sgdroin Jod?

(A) 244 (B}
(Cy 256 {D}

(B} 296

Whal is the value of 13 x5 +35+7-27
1I2x5+35 =7 -2 Dend Jogd?

(A} 20 (B)
(C) 68 (D
(B} 90

22
il

03
192

254
276

33
104

How many of the following numbers are divisible by 97

D639, 8172, 6345, 17382, 3561

9639, 8172, 6343, 1782, 3562 Sogpped” I Sopges 9 B wriodeds?

{A) 1 (B)
{C) 3 (D)
(B} 5

What s 16% of Rs. 12307

1250 drarchod” 16 Pdo Jod?

(4) Rs.125 ®)
(Cy Rs 100 (D}
{E] None of these (& 5ek)

What is 50% of 40% of 1200 gms?
1200 riwnedt 40 Fdo Exd), 50 £E0 Jod?

(A) 450 zms (B
(300 gms (o
(B} 180 gms

BRP-15(2)-8002 (C) =35~

y

La

4

Rx. 30
Ra. 200

1) gins
240 gms
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179, The length of a rectangle is increased by 30%, where as the breadih is decreased by 25%.
What is the conscquent percentage change in the area of reclangle?
S ddsdiprede drdd 30 oo 2ol Sdon 28 Pde @b, edpd oD Sroged” SO
Spdng Jod Fdo?
(A 259 increase (B} 23% decrease
() 590 increase () 3% decreasc
T 2259 decrease

180, A number when increased by 17% beeomes 2340, What is the number?
nf Pomgi 7 &6 Todsdt 2340 . wi] Domg alat,

(4) 1,800 (B) 3.000
{C) 2,000 D) 1,500
E) 2,500

181, Im am clection contested by two candidates, the candidate who gets 43% 15 rejected by a
margin of 2,856 voles. Find the total number of votes polled siven that all the votes polled
are valid votes.
wf IS 28t wgpien FO S of viihs 45 T b 308 wdis 1856 Lo XS
L. wondd JFER Gudo Ly IN7 5, Lin SrT 805 Beduddii.

rA) 20400 (B) 20,820
() 16,500 () 40,800
(E) 44,200

182, Aund B invested Rs. 300000 and Rs. 40,000 respactively in 4 business for one year I they
earned Ra. 7,700 at the end of one vesr, find the Bs profit.
A Sobolze B S g, 30,000 D08 ain 40,0000- oE E-céé;jﬁ aﬂgjﬁﬁméu ﬁéﬂa&-& 1!%‘?&.
T SoddToaad 8r 7,700 - ordic rold, B @, ordo Jod?
(A} Rs 3,300 (B} Rs. 3300
{C) Rs. 4,400 (D) Rs. 4,000
{E] Rs 4.200

183, Sumil and Ravi invested Rs. 200000 and Rs. 25 000 respectively to start a business. Ravi
withdraws sfter 10 months and Sunil gets Bs. 12,007 as his share after one vear. Find
Ruvi's share.

Boad Ba8ols D ST g, 20,000/ Seficias doo 25,000/ - Fgardidide Divad BEID.
w 1 Joe 80rd Fparde deod SdynsaTds, BondE dr. 12,000/ Holdhoosa ﬁ%ﬁﬁ’

80 dlaagy rfidiod?

(A) Ra 24500 By Rs. 14,500

(C) Rs 12,000 (D) Rs. 12,500

(B} HRs. 15000

BRP-IS(2)-8002 () .39, C3



154,

155.

86,

IR7.

1 83.

A, B and C start a business with Ry. 4,000, Rs. 5.000 and Rs. 6,000 respectively. B and C
leave alter 9 and 8 months respectively. Who gets the smallest share of profit at the end of
onec year ?

A, Bitain Cogirddiode &r. 4,000/, 5,000/-, ,000/- E:é:gz:.&é"‘ Ertofomt. B Haboin
C AR 8 Soer, & Jowo dhod ﬁl@’u_:;ﬁ:cﬁﬁa. modado ddard J588 wodh Lo &R
ergio Seiydo?

(A A By C

i) B (D} BothAandC

{(B) BothBandC

Among three partners A, Band C, Aand B together invested & sum equal o the capital of
. If they made a total profit of Rs. 36,000 after one year, then find C’s profil-

A B Sasdia C wﬁir;g:'mm?_ A Soboin BEon C'afa__é ";:n‘,:_gz:-uﬁﬁ‘ AErdom "‘.:-n'uu}m& g,
o d Hon Sdard do 36,000/- oo, C Gng, oo Jod?

(A) Es. 12,000 (B) Rs. 18,000

{CCy Rs. 15,000 (T Rs 10,000

{E1 R, 16,000

Y starls a business with Rs, 3,300 and after 5 months Y joins him. Aftera year the prohtis
divided in the ratio of 4:5, How much did Y contribute?

K wiondsy 3,500 Dinedd TiFdo @riudedt. 3 Row gird Y gt wridnga
wowarid. w8 Doddfo dhrd SO ey L1035 D@ SoEm, Y ded Dégnd 2T

{A) Rs. 6,000 (B} Rs. 5600
(C) Rs.4.500 (0 Rs. 7,500
(E) Ra. 6,500

The simple interest on 2 certain sum of money at 444 per annum for 3}5 years is
s, 2,800 The sum 5 :
St ke Dod Houk & T 0¥ 3BE 3 4 Sond” Ingo . 2,800/ wond, Budhbgd

ii'.'l"éo\.-l]& JoET
(Al Bs. 24,000 (B Rs. 20,000
{3 R 15,000 () RBs. 16,000

(Ery  Rs. 22,000

How much will Rs, 7,500 amount to in (Wo years at the rale of 129 per annum simple
interest?

Aonmd 12 T Sdd ﬁ:éé’ Tods Sowod® Jod Tinod dr. 7,500/ enfazin?

(A} Rs. 8900 (B} Rs.9,000

(C) Rs.9.300 (D) Rs 9,100

By Rs. 9200

BRP-IS(2)-8002 (C) 40 C3



184,

199,

191,

193,

184,

A sum amounts to Rs. 8,640 in three years at 20% per anoum compound interest. Find out
the sum.

20 o SPSHE Fod Diped 3 dowd® dr. 8,520/ wondd Fndd Dined Jod?
(A Rs. 7500 {By Rs 5,000

() Re 0,000 (D) Es. 4500

(Ey  Es. 5300

If the simple interest on a sum of Rs. 10,000 at 139 per annum is Rs. 7,500, find out the
time period.

Gov. 10,000/ Todaged Joch 15% Ho¢ 55&° 7,500/ 5§ SEerE dod dsaio Ségi?

[A) 5 yoars (B 4 years

(C1 6 years (I 3 years

(E}  MNone of these (D8 5d)

A certain sum is lent at 11% per annum simple interest for six years. The interest received
is lzss than (he sum by Rs. 2,720, What is the sum?
% 36¢ 558 6 dorod® Fod Diged T 55, wie $o8 dr. 2720 IRST e

?ﬂé.ge:::i wOE?
(4 Bs 5280 (By Rs. 8,000
(C) Rs. 9600 {D} Rs 412121

(E} Rs. 7500

. Aman walks from A to B at 8 kinph and comes back from B to A on & gycle at 12 kmph.

What iz his average speed for the entire journey?
v $o Ao B 505 B 8.3 okl $3D Hoctn G Pairnod Bl A 38
12 &0 fol: o, @80 Sng, Sdi ZKo Jog?

(AY 10 kmph {(B) &85 kmph
(1 9.6 kooph M 102 kmph
(By 114 kmph

The average of 25 numbers is 10. If each number is added by 5, then what will be the new
average?
25 Bopge ROURD 10, S8 Hopgly & E0RAY, FE 2700 Jod?

(AY 10 By 12
(Cr 1l Dy 13
(B} 13

The average of [ive numbers is 20 and the average of three of thess numbers is 15, Find
the average of the other two numbers.
Sl Gy, BEdE 20 Sodcln TOST 340 TR 15 vond die agh Doad Jodt

(A) 305 (B) 28.5
(C) 265 () 27.5
(B} 315

BRP-IS(2)-8002 (C) 41 C3



153.

¥,

198,

1949,

200,

Tn a class of 60 studenls, he averape weight of 30 students is x kg and that of (he remaining
is ¥ kg_ Find the average weight of the class.

wf SOKEE° 60 food Dogthes dodim, 30 b Jopte STR0 athy x S ol 0
HOPRD g v B wondd SR8 SO Jod?

(A) (x+yikg (By 30kg
I+ ¥ 1}'
G ok — k
() ; k8 (D) 5 o8

{E) Mone of these ()& 5]

. The average weight of 11 items is 8 kg. If one item s sold, then the average weight decreases

by ‘l/g kg. The weight of the sold item is ;

1 Siago 50798 B Ay of Sdd sdyT T8 ot 1 Ser Sim, wdyd S8 =t
Jod?

(A) I3kg (B) 12kg (C) 135ke (D) 125kg E) 115kg

12 kg of sugar costing Rs, 20 per kg and 6 kg of sugar costing 30 per kg are mized, What
i the price per kg of the resultant mixture?

12 Eim 55,0 54 ady 088 dr. 20/- T, 6 4P $R 0 wfotis & 30 B, Dol 0@ Béas
whodd?

(A1 Rs 2333 By Rs. 2450

() Rs 22467 D) Rs 2133

(E) None of these (28 =)

Tn what ratio must salt at Re, 2.20 per kg be mixed with salt at Rs. 7.10 per kg such that the
mixmre costs R, 4.3 par kg,

Gidy 4T wfofiE e 220 s, qoFEdEe Gy ST o TA0 =T Tt Do
g 4.30 By T, O SEEd° wlolld E05FDRT

(A) 4:3 {B) 3:2 (C) 5:3 (D} 311 (B} 4:1

A man bought 200 oranges and apples for Rs. 1,200, If the cost per orange is Rs. 2.70 and
the cost per apple is Rs. 11,50, then find the number of cranges and apples he bought.
w208 e 1200008 200 aFoned Holotn whd Dol Famd. v@on w8 G 27
Zofcdin =5 pidy &7 1150 monshd I DN ;S:lﬁi:iﬁ;u;u Hm_l"_;.“ & E'cu—_:c'é.,“

(A} 40,160 (B) 50,120
(€ 12575 (D) 50,150
([E) 45,155

Lilly travels 300 km in 12 hours., Parl of it in her car at 45 kmph and the rest on her cycle
at 15 kmph. Find the ratio of distances travelled by Lilly in her car and on her ovele,

9 w3 358 300 b, 12 foiod® Pairdodi. TEE” 45 5o Mobs, D6 P B D
fotes Boirded. sondT O wq*,ﬂé" =& fod Sofoin DHES T oo

(Ay 1:2 By 2:1 Oy 32 I 2: 5 By 1:4

BRP-IS(2)-5002 (C) -42- C3



